ALGEBRA 2 Hollie Thompson

Combine Terms
EX 1)7x =y —4x + 3y
Tx -~ By ~4x :

3X

EX 2) Simplify: 2a’ - 10ab® + 3a° - ab®*-7
2a® — 10ab? + 3a®—ab? -7

= 2a° + 3a°- 10ab* —1ab* -7

—_— '
- 5g¥ — 11ab? -7
= 5a®-11ab*-7

| SOLVING EQUATIONS |
EX1) bx+15 =3%+% dichthe EX2) {-3%X=5%+0y

s SN2 ST +3% +3X
ZR+152 % Gichthe s 9=%%+ ditchthe 6
-15 -15 - (o - b
%=1 %= 0% ditch the 8
2% =-T  ditchthe3 3z 3%

3 3 2
%= 3 ’
7



EX 3) 2%+5= L(k+4) DISTRIBUTE FIRST
3%+ 5 =[x+ 24 < Bocare

hele 3w -3y
_ 5=3%+24
ditch the 24 _24 _24
-19=3%
ditch the 3 -19=3%
E %
-
o

EX4) 3(2%+5)=4x+T-%+|

add like
te

distribute ms

bR +15 = 3%+ ditch the
-3% -3% 7
3*::2 3_?5 ditch the 15

%=~
2R =2-1  ditchthe3

3 2

x= 3

EX5) solve 5%-3+Lx+1=5-2(x+4)

Clean up both sides...
IIR-2=5-2%-8
WR-2=-2%-3 ditch the

|
+ 2% A sn:a‘::yst
I2R-2=-3
+2 +2 ditch the -2
IZ% = -
2% =~ ditch the 13
B B



[ GRAPH BY PLOTTING POINTS ]

Ex:1. y=2x-7

X1V

-3 | -13 2(-3)-7=-13 ., L L, L L 1 s
2 11 2(-2)-7=-11 _

1| 9 2(-1)-7=-9

0ol 7 2(0)-7=-7

2(1)-7=-5

1= 2(2)-7=-3

2 | -3 2(3)-7=-1

3 -1

Ex: 2. y=-6x+4

XY

-3 | 22 -6(-3) +4= 22

-2 | 16 -6(-2) +4= 16

11 10 -6(-1) +4=10
4 -6(0) +4 =4

-6(2) +4 = -8
-6(3) +4 = -12

0
1 -2 '6(1) +4 =-2
2
3



